program SquareOfNumber;

var
num, square: integer;

begin
writeln('Elcdyete évav aplOud: ');
readln(hum);

square := num * num;
writeln('To tetpdywvo tou aplbuou sivat: ', square);
end.

program CheckNumbersSize;

var
num: integer;

begin
writeln('Elcdyete évav aplBuod: ');
readln(hum);

if num > 0 then
writeln('O aplBuocg eival Betikog.')
else if num < 0 then
writeln('O aptBudg sivat apvntikoc.')
else
writeln('O aplBuodc eival undév.');
end.

program ArrayExample;
var
numbers: array[1..5] of integer;
i integer;
begin
fori:=1to5do
begin
writeln('Elodyete Tov aplOud ', i, 1 ');
readln(numbers][i]);
end;

writeln('OL aplBuol mou elcayayarte sivad:');
fori:=1to5do
writeln(numbersli]);
end.




program FactorialCalculator;
var
num, result: integer;

function Factorial(n: integer): integer;
begin
if n <= 1 then
Factorial := 1
else
Factorial := n * Factorial(n - 1);
end;

begin
writeln('Elodyete évav aplOuo: ');
readln(hum);

result := Factorial(num);
writeln('O mapdyovtag tou aptBuou sivatl: ', result);
end.

program RepeatUntilExample;
var

num: integer;
begin

repeat

writeln('Elodyete évav aplOud peyalitepo and 10:

readln(num);
until num > 10;

writeln('O aplOudg ou sloaydyate ivat: ', num);
end.

);

program DayOfWeek;

var
dayNumber: integer;

begin
writeln('Elodyete évav aplOuo and 1 éwg 7:');
readIn(dayNumber);

case dayNumber of
1: writeln('Asutépa);
: writeln('Tpitn');
: writeln('Tetdptn');
: writeln('Mépmntn');
: writeln('Mapaokeun');
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6: writeln('ZaBBarto’);
7: writeln('Kuptakn');
else
writeln('Mn €éykupog aptBudc.');
end;
end.

program DynamicArray;
var
numbers: array of integer;
i, n:integer;
begin
writeln('Elcdyete to péyebog tou mivaka: ');
readin(n);

SetLength(numbers, n);

fori:=0ton-1do

begin
writeln('Elodyete Tov aplBud ', i+1,":");
readln(numbers][i]);

end;

writeln('OL aplBuol o sloayayate sivat:');
fori:=0ton-1do
writeln(numbersli]);
end.

program AverageCalculator;
function CalculateAverage(a, b, c: real): real;
begin
CalculateAverage :=(a+b +c)/3;
end;
var
numl, num2, num3, avg: real;
begin
writeln('Elcdyete Tov mpwto aplduo: ');
readIin(num1l);
writeln('Etcdyete tov 8eUtepo aplBuo: ');
readin(num2);
writeln('Elcdyete Tov tpito aplbud: ');
readIln(num3);
avg := CalculateAverage(num1, num2, num3);
writeln('O péocog 6pog Twv TpLwv apBuwy sivat: ', avg:0:2);
end.



program WhileLoopExample;
var
num, total: integer;
begin
writeln('Elodyete évav aplOuo: ');
readln(hum);
total :=0;

while num <> 0 do

begin
total := total + num;
writeln('Tpéxov dBpolopa: ', total);
writeln('Elodyete €vav aplOuo (A 0 yia £€€060): ');
readln(num);

end;

end.

program MultiDimensionalArray;

var
matrix: array[1..3, 1..3] of integer;
i, j: integer;
begin
fori:=1to3do
forj:=1to3do
begin

writeln('Ewocdyete to otowxeio otn B¢on (', 4, "', ], "):');
readln(matrix(i, j]);
end;

writeln('To mAéyua nepléxel ta g€ng otoweia:');
fori:=1to3do
begin

forj:=1to3do

write(matrix[i, j1, '');

writeln;

end;
end.

program GuessTheNumber;
var

secretNumber, guess: integer;
begin

randomize;



secretNumber := random(100) + 1; // Tuxaiog ap®uédg and 1 £wg 100

repeat
writeln('Elodyete pia TpoomadeLa yLo voL LOVTEP ETE TOV HUCTLKO aplBuod: ');
readln(guess);

if guess < secretNumber then
writeln('O puotikdc aplBudg sival peyalitepoc.')

else if guess > secretNumber then
writeln('O puotikdg aplBuog sivat pikpdtepog.')

else
writeln('Zuyxapntripla! Bprkate tov LUOTIKO aplBuo.');

until guess = secretNumber;
end.

program FactorialCalculator;
var
num, result, i: integer;
begin
writeln('Elodyete évav aplOuo: ');
readln(num);
result:=1;

fori:=1tonumdo
result := result * i;

writeln('O mapdyovtag tou aplBuou sivat: ', result);
end.

program GuessTheNumberLimitedTries;
var
secretNumber, guess, attempts: integer;
begin
randomize;
secretNumber := random(100) + 1; // Tuxaiog aptBuédg and 1 £wg 100
attempts := 0;

repeat
writeln('Elodyete pia TpooTdBeLa yio vor LaVTEP ETE TOV MUCTLKO aplOuod: ');
readln(guess);
attempts := attempts + 1;

if guess < secretNumber then
writeln('O puotikdg aplBuog sival peyalutepoc.')
else if guess > secretNumber then



writeln('O puotikog aplBuog eival pkpotepog.')
else
writeln('Zuyxapntripla! Bprkate tov pUOTIKO aplOuod ot ', attempts, ' mpoondbelec.');

if attempts = 5 then
begin
writeln("Exete e€avtAfoet Tig mpoomndBeteg. O pUOTIKOG aplBudGg Tav: ', secretNumber);
break;
end;
until guess = secretNumber;
end.









